2—1. BEAEDHE (RE - A=)
CITH=P:P8
O

14 |giEpEr| 15 |arEREw| 16 |grEsw| 17 |giERw| 18 |FiEER
BERRE (%) (%) (%) (%) (%)
E & 3,079 A 2.5 3,062 A 0.9 3,024 A 0.9 3,004 A 0.7 3,024 0.7
N =H 1,230 A 3.2 1,185 A 3.7 1,086] A 8.3 1,008 A 2.6 1,035 A 2.1
& § 4,309] A 2.7 4 237\ A 1.7 4, 110] A 3.0 4 061 A 1.2 4,009, A 0.1




2—2. WEABDHFE (KEHER - T Dthithish)

(B BEAA)

FE
14 BIEEELE 15 RTEEEELE 16 BIEELE 17 BTEEEELE 18 [IE:3: 3:¢
EERE (%) (%) (%) (%) (%)
KERHER 2,657 A 1.8 2,635 A 0.8 2,550 A 3.2 2,537 A 0.5 2,563 1.0
Z O fthithizg 1,652 A 4.1 1,602 A 3.0 1,560 A 2.6 1,524 A 2.3 1,496| A 1.8
8 & 4,309 A 2.7 4,237 A 1.7 4,110 A 3.0 4,061 A 1.2 4,059| A 0.1




